Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in Tripura, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *		Finance to be arranged by the applicant (Rs. In Lakhs)		Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. In Lakhs)	Security Deposit (Rs. In Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimat ed working capital require ment for operatio n of RO	Estim ated fund requir ed for devel opme nt of infras tructu re at RO	Draw of Lots / Bidding		
1	BETWEEN GANGANAGAR AND GANDACHERA ON AMBASA - GANDACHERA ROAD	DHALAI	Regular	110	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
2	MATABARI, ON NH-8 BETWEEN BELTALI BAZAR AND TRIPURA SUNDARI MANDIR	GOMATI	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5

	ON NH -8 AT UDAIPUR, BETWEEN 1ST JUNCTION OF NH				1		I							1
3	8 AND MG ROAD TO 2ND JUNCTION OF NH 8 AND MG ROAD	GOMATI	Regular	150	OPEN CC 2	СС	40	45	1800	25	10	Bidding	30	5
4	WITHIN UDAIPUR TOWN LIMIT ON MAHATMA GANDHI ROAD	GOMATI	Regular	150	ОВС	DC	25	25	625	25	45	Draw of Lots	15	4
5	"UCO BANK, KALYANPUR BRANCH" TO "TOTABARI HIGH SCHOOL" ON "KAIYANPUR-KHOWAI ROAD"	KHOWAI	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
6	ON KHOWAI - AGARTALA ROAD NH 108 IN BETWEEN BAIJALBARI AND SARAT CHOUDHURY SCHOOL , RIGHT HAND SITE	KHOWAI	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
7	FROM TELIAMURA TO TUSHINDRAI SCHOOL TO HAWAIBARI BAZAAR ON NH 44	KHOWAI	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
8	BETWEEN CHURAIBARI POLICE STATION TO SANTOSH PETROLEUM (IOCL PETROL PUMP) ON RIGHT HAND SIDE ON NH 8	NORTH TRIPURA	Regular	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
9	BETWEEN "SANICHERRA PHC" TO "BAGBASA HIGH SCHOOL" ON NH8 (NEW NO)	NORTH TRIPURA	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
10	BETWEEN CHURAIBARI POLICE STATION TO SANTOSH PETROLEUM (IOCL PETROL PUMP) ON LEFT HAND SIDE ON NH 8	NORTH TRIPURA	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
11	BETWEEN JUNCTION OF DHARMANAGAR BAGBASA ROAD AND BATARASI ROAD TO NH 8 ON DHARMANAGAR BAGBASA ROAD	NORTH TRIPURA	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
12	Agartala- Sabroom Road, Between Bishalgarh H.S School and Parimal Chowmohoni Steel Bridge on NH 44 on RHS	SIPAHIJALA	Regular	150	OBC	СС	40	45	1800	25	10	Bidding	30	4
13	BETWEEN IOCL LPG BOTTLING PLANT BISHALGARH TO PURNA PETROLEUM (IOCL PETROL PUMP AT BISHRAMGANJ) ON LEFT HAND SIDE ON NH 8	SIPAHIJALA	Regular	150	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
14	BETWEEN IOCL LPG BOTTLING PLANT BISHALGARH TO PURNA PETROLEUM (IOCL PETROL PUMP AT BISHRAMGANJ) ON RIGHT HAND SIDE ON NH 8	SIPAHIJALA	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
15	"SONAMURA PUBLIC LIBRARY" TO "M/S ANISH AUTOMOBILES" ON "MELAGHAR-SONAMURA" ROAD	SIPAHIJALA	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
16	ON AGARTALA -SONAMURA ROAD, BETWEEN SONAMURA RANGAMATI MADRASA AND SONAMURA BUS STAND ON SH6	SIPAHIJALA	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
17	ON "AGARTALA-SABROOM" ROAD BETWEEN JUNCTION OF "AGARTALA-SABRUM" ROAD AND "KC PARA" ROAD TO RAMTHAKUR TEMPLE, SHANTIR BAZAR	SOUTH TRIPURA	Regular	150	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
18	BETWEEN BELONIA ITI TO PURBA SHARASHIMA HIGH SCHOOL ON AGARTALA TO SRINAGAR ROAD	SOUTH TRIPURA	Regular	100	OPEN CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
19	ON AGARTALA - KHOWAI ROAD NH -108, BETWEEN HOLYCROSS COLLEGE TO KAMALGHAT BAZAR	SOUTH TRIPURA	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
20	FROM MUHURI RIVER BRIDGE TO "ALL INDIA RADIO, BELONIA"	SOUTH TRIPURA	Rural	60	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
21	ON "TELIAMURA-AMPINAGAR" ROAD FROM "STATE BANK OF INDIA CUSTOMER SERVICE POINT, TAIDU" TO TAIDU PLAYGROUND	SOUTH TRIPURA	Rural	60	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
22	FROM "BANK OF INDIA, JAMJURI" TO "JAMJURI KALI MANDIR" ON "UDAIPUR-KAKRABAN ROAD"	SOUTH TRIPURA	Rural	60	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
23	ON NH 8 BETWEEN KUMARGHAT POLICE STATION AND KUMARGHAT PETROLEUM AGENCY	UNAKOTI	Regular	150	ОВС	DC	40	45	1800	25	75	Draw of Lots	15	4
24	ON "KUMARGHAT-KAILASHAHAR ROAD" FROM KAILASHAHAR HOSPITAL TO JUNCTION OF "KUMARGHAT-KAILASHAHAR ROAD" AND "DHARMANAGAR-KAILASHAHAR ROAD"	UNAKOTI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5

25	BETWEEN KHAYERPUR JUNCTION (STARTING POINT OF AGARTALA BYPASS) TO JIRANIA POLICE STATION ON	WEST TRIPURA	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
23	LEFT HAND SIDE ON NH 8		. regular	150	0.2.0	30	.0	.5	1000	10	, ,	51411 01 2015	13	3
26	ON NH 08 CHAMPAKNAGAR TO SADHUPARA , IN BETWEEN CHAMPAK NAGAR FORST OFFICE AND CHAMPAKNAGAR SCHOOL	WEST TRIPURA	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
27	ON AGARTALA BYPASS ON LEFT HAND SIDE WHILE GOING FROM KHAYERPUR JUNCTION	WEST TRIPURA	Regular	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
28	BETWEEN KHAYERPUR JUNCTION (STARTING POINT OF AGARTALA BYPASS) TO JIRANIA POLICE STATION ON RITGHT HAND SIDE ON NH 8	WEST TRIPURA	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
29	BETWEEN AGARTALA AIRPORT TO GINGER HOTEL ON AIRPORT ROAD	WEST TRIPURA	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
30	FROM SAIBABA TEMPLE TO MALAY NAGAR CHOWMOHANI ON LHS OF AGARTALA BYPASS ROAD	WEST TRIPURA	Regular	150	sc	CFS	40	45	1800	0	0	Draw of Lots	0	3
31	ON "JAIL ASHRAM ROAD" BETWEEN JUNCTION OF "BK ROAD" AND "JAIL ASHRAM" ROAD TO "AGARTALA MUNICIPAL COUNCIL, EAST ZONAL OFFICE"	WEST TRIPURA	Regular	100	ОВС	DC	30	30	900	25	45	Draw of Lots	15	4
32	BETWEEN SOUTH BARJALA JUNIOR BASIC SCHOOL AND TRIPURA GRAMIN BANK DURGA CHOWMUHANI BRANCH IN AGARTALA TOWN	WEST TRIPURA	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
33	BETWEEN JOHAR BRIDGE TO ONGC MAIN GATE	WEST TRIPURA	Regular	150	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
34	SIDHAI POLICE STATION TO "SDM OFFICE, MOHANPUR" ON "AGARTALA-KHOWAI ROAD"	WEST TRIPURA	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Corporation Offices the addresses mentioned below. lt is also hosted in the Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000		CFS	SC/ST	2500
ROs	СС	OBC	5000	Rural ROs	СС	OBC	4000
	СС	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **10** years and renewable every **10** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Hindustan Petroleum Corporation Limited
(A Government of India Enterprise)
Second Floor, Janapath, H.D. Complex, G S Road, Ulubari, Guwahati – 781007
Contact no.: 0361 – 2464092, 0361 – 2464096, 8811021843